Money and Banking 
Winter 2012-13 

Problem Set 3
Due:  December 18, 2012 

10 points

Show all of your work.

1. The Government of Hobbiton uses measures of monetary aggregates similar to the U.S.A., and the central bank of Hobbiton imposes a required reserve ratio of 10%.  Given the follwing info …

Bank deposits at the Central Bank 
$200 million

Currency held by the public 

$150 million

Currency in bank vaults


$100 million

Checkable bank deposits


$500 million

Traveler’s checks



$  10 million

a. What is M1?

b. What is the monetary base?

c. Are commercial banks holding excess reserves? How much?
d. Can commercial banks increase checkable bank deposits?  If so how much?

2. What will happen to the money supply under the following circumstances?
a.
rr = 25% and a depositor withdraws $700 from his checking deposit bank account.    

b.
rr = 20% and a customer deposits $600 into her checkable deposit bank account.
